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| ook at an unused file
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Boxed answers agree with
TurningPoint answers

Points agree with
TurningPoint points

Points total to 100



QUIZ
FOLLOWS



T or F:
Ve e R, In(e*) ==

(a)[True

(b) False
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T or F:
Ve eR, €% =g

(a) True

(b)[False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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[d/dz][(cosy) + 23] = 77

(a) —(siny) + 6y2
(b) —(siny") + 6(y)?

(c) —(siny)y’ + 6y2

(d) none of the above

0% 0% 0% 0%
Correct answer:—(siny)y’ + 6y2y |“.— . .~ .

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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[d/dx][tan(zy)] = 77

(a) —[sec*(zy)]ly + =y']

(b) [sec?(zy)]ly + zy/]

(c) —[sec®(zy)]ly + =]

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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[d/dzx][xe¥Y + y] = 77 \

(a) e¥ + xze¥ + 1

(b) e¥ + zeVy' + o

(c) e¥ + ze¥ + o

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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[d/dx][xe? + y] = e¥ + ze¥y’ + 3/
= e¥ + (ze¥ + 1)/ rxed +y=1
y' = 77

(a) —e¥/(ze¥ + 1)

(b)e¥Y/(xe¥ + 1)
(c)(1—-¢eY)/(ze¥y 4+ 1)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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y = —e¥/(ze¥ + 1) reY +y =1
slope at (0,1)7

(a) 0
(b) -1

(C) —e

(d) none of the above

0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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W (x) = |
L (@)][g(2)] + [F(2)]ld' (2)] f(4)=7,f(4)=1

() 9(4) =6, ¢'(4) =3
F(D][g(8)] + [F (D]l (4)] h(z) = [f(z)]lg(z)]
h(4) =77, W(4) =77
(a) 42, 3
(b)13, 27
(c) 42, 27
(d) none of the above 0% 0% 0% 0%
= e > N

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

12

0of 5 Topic 0340 0 pts




W () = [g'(f @) ()] |

(@) = g , F@y =7, /(4 =1
W(4) = [g' (F(@DILF/(4)] (= =1

h(z) = g(f(x))
h(4) =77, W(4) =77

(a) 6, 3

(b) 6, 27
(c) 42, 27

(d) none of the above
0% 0% 0% 0%

v

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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flg(x)) ==
[f'(g(x))]lg'(x)] =1
LF'(g(TNIg (T)] =1

g=f1
Fa) =7, 9(7) =4
f'(4) =2, 4 (71)="77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

> Vv

10 11 12 1 13 | 14 | 15 | 16 | 17

18 | 19 | 20
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Oof 5

Topic 0430 O pts H



g=f1
f(6) =09, f'(6) =1/4
g'(9) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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g=f1
f(6) =09, f'(6) =1/4
g'(6) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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r—0 2 "H »—0 2z

(a) o<
OF

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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lim e — 1 - lim [?7]
z—0 [ In(1 + ) r—0

[IN(1 + 2)][2e27] — [e?* — 1][1/(1 + x)]
(a) [(In(1 + 2)]2

2€2x

(b) 1/(1+ 2)

(c)I'Ho6pital does not apply.

(d)none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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im & — =
rx—0 :13‘4
(a) o©
et — 1
lim
(b) t—0 413

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(2)

(b) False

True

T or F:
>0 on (2,3)
— fincr. on (2,3)

Y %
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
_ 20
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(a) 0

(b) —2¢~2

(c) —e~2

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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% [((In5)x] = 77

(a) 0
(b)In5

(c) z/5

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(d/dz)(In|z|)

(a) 1/z, >0

(b) [1/z]
(c) 1/x

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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1

(d/dz)(arctanz) = - o
(@) — (d/dx)(arctane®) = 77
1+ (ea:)Q
(b) (arcsec?e®)(e%)
1

(©) (72

(d) none of the above
0% 0% 0% 0%

N I o ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(d/dx)(e™=7)

(a) e=27

(b) e ?

(C) —2e— 2%

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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LOOK AHEAD

2 | 7 7T
/335‘ + (cosx) . \/Ed:c

/COS(3:U + 7) dx
LOOK BACK
fix) =, = In(1+[f(=)]) ~, f(z)

fig (102 +04)
xli_>moo (\/562 +x — \/IL‘Q — 7:1:)

derivs w.r.t. x of exprs of y



CURRENT (implicit diff. & IFT)

derivs of arcsin, arccos

derivs of arctan, arccot
sin(zy) = 422 — Tay + y2e”
Slope of tan line to z% + y* = 17 at (1,2)
=q’'n of tan line to z% — 7zy + y* = 3 at (1, 2)

f(r) =z +=x
g=f"1
Find ¢g(2) and ¢'(2).



flg) =22 = f(s+1t)=(f(s))+ (f(£))7?7
fle) =3z = [f(s+1t)=(f(s))+(f(¥))?7
fl) =4z+1 = [f(s+t) = (f(s))+(f(£))7?7

limit of quotient = quotient of limits 7

eNT =4 7
net =« 7
2 /r=x 7

r/x?=1/cx 7

position = 2t3 4 5¢2
velocity att =3 7



LOOK AHEAD

y = (2:62 — x4+ 1)(cos(3z))
Ay, dy,
eq'n of tangent line at (0,1),
linearization at = 0
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